
S3 File: Internal consistency and factor structure of 7 item perceptions of safety scale in women at risk of preterm birth responding to the postnatal survey (shortened version of the 13-item scale in the Perceptions of Safety Measurement Questionnaire [22])


Data preparation 

	Participant ID
	Question 1    
 I could have a member of my family or close friend for support when I wanted
	Question 2 
My consent was obtained before a test, an investigation or an emergency procedure
	Question 3
Test and procedures were carried out when staff said they would be
	Question 4
There were always enough staff to care for me
	Question 5
Staff were familiar with the equipment and procedures
	Question 6
If applicable, I was given information about my medication in a way I could understand
	Question 7
If applicable, My discharge and my babies were well planned
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Correlation matrix (page 2)
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Scree plot for eigenvalues
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Factor loading plot
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Predicting numbers
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Cronbach’s alpha test 
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Scoring coefficients

sum of squares(column-loading) = 1

Variable Compl Comp2 Comp3 Comp4 Comp5 Comp6
Question_1 0.2908 0.6375 0.0161 0.0843 -0.0355 0.0189
Question_1 0.2908 0.6375 0.0161 0.0843 -0.0355 0.0189
Question_3 0.4148 -0.2368 0.0931 0.0336 -0.8458 -0.2161
Question_4 0.4008 -0.2331 -0.5400 0.3798 0.0675 0.5871
Question_5 0.4424 -0.1176 -0.4473 -0.2621 0.3515 -0.6309
Question_6 0.4168 -0.1119 0.3515 -0.6976 0.1368 0.4300
Question_7 0.3587 -0.2245 0.6129 0.5339 0.3678 -0.1580
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average

item-test item-rest interitem
Item Obs Sign correlation correlation correlation alpha
Question_1 163 + 0.5064 0.3168 0.4251 0.8161
Question_2 163 + 0.6809 0.5307 0.3660 0.7760
Question_3 163 + 0.7510 0.6264 0.3416 0.7568
Question_4 163 + 0.6891 0.5455 0.3634 0.7740
Question_5 163 + 0.7791 0.6632 0.3322 0.7491
Question_6 142 + 0.7440 0.6139 0.3485 0.7624
Question_7 151 + 0.6031 0.4390 0.3881 0.7919
Test scale 0.3664 0.8019
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Interitem correlations (obs=pairwise, see below)

Question_1 Question_2 Question_3 Question_4 Question_5 Question_6 Question_7

Question_1 1.0000

Question_2 0.4030 1.0000

Question_3 0.1665 0.5145 1.0000

Question_4 0.1888 0.1776 0.4957 1.0000

Question_5 0.2622 0.5419 0.4488 0.5858 1.0000

Question_6 0.2217 0.4045 0.5078 0.3793 0.5381 1.0000

Question_7 0.0958 0.1509 0.4355 0.4187 0.3179 0.4549 1.0000

Pairwise number of observations

Question_1 Question_2 Question_3 Question_4 Question_5 Question_6 Question_7

Question_1 163

Question_2 163 163

Question_3 163 163 163

Question_4 163 163 163 163

Question_5 163 163 163 163 163

Question_6 142 142 142 142 142 142

Question_7 151 151 151 151 151 130 151
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Questi~1 Questi~2 Questi~3 Questi~4 Questi~5 Questi~6 Questi~7

Question_1
Question_2
Question_3
Question_4
Question_5
Question_6
Question_7

S 0 00 0 O K

.0000
.3931
.1204
.1107
.2388
.2199
.0938

o 000 O K

.0000
.5176
.1558
.4890
.4024
.1799

o 00 O K

.0000
.5228
.4871
.5132
.4732

1.0000
0.6171
0.3592
0.4043

1.0000
0.5308
0.3558

1.0000
0.4549

1.0000
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Principal components/correlation Number of obs = 130
Number of comp. = 6
Trace = 7
Rotation: (unrotated = principal) Rho = 1.0000
Component Eigenvalue Difference Proportion Cumulative
Compl 3.11833 1.31919 0.4455 0.4455
Comp2 1.79914 1.07733 0.2570 0.7025
Comp3 .72181 .14391 0.1031 0.8056
Comp4 .5779 .100781 0.0826 0.8882
Comp5 .477118 .171416 0.0682 0.9563
Comp6 .305703 .305703 0.0437 1.0000
Comp7 0 0.0000 1.0000
Principal components (eigenvectors)

Variable Compl Comp2 Comp3 Comp4 Comp5 Comp6 Unexplained
Question_1 0.2908 0.6375 0.0161 0.0843 -0.0355 0.0189 0
Question_1 0.2908 0.6375 0.0161 0.0843 -0.0355 0.0189 0
Question_3 0.4148 -0.2368 0.0931 0.0336 -0.8458 -0.2161 0
Question_4 0.4008 -0.2331 -0.5400 0.3798 0.0675 0.5871 0
Question_5 0.4424 -0.1176 -0.4473 -0.2621 0.3515 -0.6309 0
Question_6 0.4168 -0.1119 0.3515 -0.6976 0.1368 0.4300 0
Question_7 0.3587 -0.2245 0.6129 0.5339 0.3678 -0.1580 0





